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gm_mÝ` {ZX}e : 

(i) Bg àíZ-nÌ _| Hw$b 30 àíZ h¢ &   

(ii) g^r àíZm| Ho$ CÎma XoZm A{Zdm`© h¢ &  

(iii) àíZ g§»`m 1 go 8 ~hþ{dH$ënr` àíZ h¢ Am¡a àË`oH$ Ho$ {bE 1 A§H$ {ZYm©[aV h¡ & 

(iv) àíZ g§»`m 9 go 14 bKw CÎmar` àíZ h¢ Am¡a àË`oH$ Ho$ {bE 2 A§H$ {ZYm©[aV h¢ & BZ_| go 
àË`oH$ H$m CÎma 50 eãXm| go A{YH$ Z hmo &  

(v) àíZ g§»`m 15 go 20 bKw CÎmar` àíZ h¢ Am¡a àË`oH$ Ho$ {bE 4 A§H$ {ZYm©[aV h¢ & BZ_| 
go àË`oH$ H$m CÎma 100 eãXm| go A{YH$ Z hmo &  

(vi) àíZ g§»`m 21 go 24 XrK© CÎmar` àíZ h¢ Am¡a àË`oH$ Ho$ {bE 5 A§H$ {ZYm©[aV h¢ & BZ_| 
go àË`oH$ H$m CÎma 150 eãXm| go A{YH$ Z hmo & 

(vii) àíZ g§»`m 25 go 30 XrK© CÎmar` àíZ h¢ Am¡a àË`oH$ Ho$ {bE 6 A§H$ {ZYm©[aV h¢ & BZ_| 
go àË`oH$ H$m CÎma 200 eãXm| go A{YH$ Z hmo & 

 

General Instructions : 

(i) There are 30 questions in all.   

(ii) All the questions are compulsory. 

(iii) Questions number 1 to 8 are multiple choice questions carrying 1 mark 

each. 

(iv) Questions number 9 to 14 are short answer questions carrying 2 marks 

each. Answer to each of these should not exceed 50 words. 

(v) Questions number 15 to 20 are short answer questions carrying 4 marks 

each. Answer to each of these should not exceed 100 words. 

(vi) Questions number 21 to 24 are long answer questions carrying 5 marks 

each. Answer to each of these should not exceed 150 words. 

(vii) Questions number 25 to 30 are long answer questions carrying 6 marks 

each. Answer to each of these should not exceed 200 words. 
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1. Xoe H$m àW_ {d{YH$ A{YH$mar h¡  1 

(H$) _hm{YdŠVm 

(I) _hmÝ`m`m{^H$Vm© 

(J) {d{Y _§Ìr 

(K) _hmÝ`m`dmXr 

The first legal officer of the country is 

(a) Advocate General 

(b) Solicitor General 

(c) Law Minister 

(d) Attorney General 

2. Zm~m{bJ A{_V í`m_bmb go EH$ H$_am {H$amE na boVm h¡ Am¡a < 10,000 A{J«_ Ho$ ê$n 
_| XoZo H$mo gh_V hmoVm h¡ & CgZo Ho$db < 6,000 ZH$X ^wJVmZ {H$E Am¡a eof am{e H$mo 
~mX _| ^wJVmZ H$aZo H$m dMZ {X`m & Cg ñWmZ _| EH$ gßVmh VH$ ahZo Ho$ ~mX CgZo Cgo 
Imbr H$a {X`m Am¡a A{J«_ am{e H$mo dmng H$aZo H$mo H$hm & 

 Bg pñW{V _| {ZåZ{b{IV _| go H$m¡Z-gr pñW{V bmJy hmoJr ? 1 

(H$) A{_V < 10,000 ^wJVmZ Ho$ {bE Xm`r hmoJm &  

(I) A{_V eof < 4,000 ^wJVmZ Ho$ {bE Xm`r hmoJm &  

(J) í`m_bmb < 6,000 bm¡Q>mZo Ho$ {bE Xm`r hmoJm &  

(K) Z Vmo í`m_bmb < 6,000 bm¡Q>mZo Ho$ {bE Xm`r hmoJm Am¡a Z hr A{_V na  
< 4,000 ^wJVmZ H$s ~mÜ`Vm hmoJr &  

Amit, a minor, takes a room on rent from Shyamlal and agrees to pay  

< 10,000 as advance. He paid only < 6,000 in cash and promised to pay 

the balance later. After occupying the premises for a week, he vacated it 

and asked for a refund of the advance. 

Which of the following situations is applicable in this situation ? 

(a) Amit is liable to pay < 10,000. 

(b) Amit is liable to pay the remaining < 4,000. 

(c) Shyamlal is liable to refund < 6,000. 

(d) Neither is Shyamlal liable to refund < 6,000 nor is Amit under 

obligation to pay < 4,000. 
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3. {ZåZ{b{IV _| go {H$g pñW{V _| Xmo nj AnZo {ddmX H$mo hb H$aZo Ho$ {bE _Ü`J Vrgao 
nj H$mo AnZr _Ou go {Z ẁŠV H$a gH$Vo h¢ ? 1 

(H$) bmoH$ AXmbV 

(I) n[adma Ý`m`mb` 
(J) g_mYmZ 

(K) {ddmMZ 

In which of the following situations do two parties out of their own free 

will appoint a neutral third party to resolve their disputes ? 

(a) Lok Adalat 

(b) Family Court 

(c) Conciliation 

(d) Arbitration  

4. g§Ord Zo AnZo IoV _| µOharbr IanVdma CJZo Xr & dmo bmnadmh Zht Wm Am¡a Zm hr Cgo 
_mby_ Wm {H$ dh IanVdma µOharbr h¡ & IanVdma \¡$br Am¡a Jwa_rV H$s g§n{Îm (IoV) _| 
^r CJZo bJr & µOharbr IanVdma ImZo go Jwa_rV Ho$ new _a JE & Xr hþB© pñW{V _| 
{ZåZ{b{IV _| go Š`m bmJy hmoJm ? 1 
(H$) Jwa_rV na g§Ord H$s H$moB© {µOå_oXmar Zht hmoJr Š`m|{H$ CgH$mo AnZo newAm| H$m 

Ü`mZ aIZm Mm{hE Wm & 
(I) g§Ord na {µOå_oXmar hmoJr Š`m|{H$ CgZo AnZo IoV _| µOharbr IanVdma (nm¡Yo) 

CJZo Am¡a \¡$bZo Xr, Omo AMb-g§n{Îm na AZm{YH¥$V àdoe _mZm OmEJm & 
(J) bmnadmh Z hmo Vmo ^r g§Ord Jwa_rV Ho$ à{V nyU© {µOå_oXma h¡ & 
(K) g§Ord {µOå_oXma h¡ Š`m|{H$ `h Mb-g§n{Îm na AZm{YH¥$V àdoe _mZm OmEJm & 
Sanjeev allows the growth of poisonous weed on his plot of land. He was 

not negligent nor was he aware of the fact that the weed is poisonous. 

The weed spreads and grows onto the property owned by Gurmeet. 

Gurmeet’s cattle die after consuming the poisonous weed. Which of the 

following is applicable in the given scenario ? 

(a) Sanjeev is not liable to Gurmeet as the latter should have taken 

due care of his livestock. 

(b) Sanjeev is liable because allowing poisonous plants to grow and 

spread amounts to trespass to land. 

(c) Sanjeev is strictly liable to Gurmeet even though he may not be 

negligent. 

(d) Sanjeev is liable as it amounts to trespass to chattels. 
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5. \w$b_{Z`m Kaoby ghm`H$ Ho$ ê$n _| H$m_ H$aZo Ho$ {bE am±Mr go H$mobH$mVm JB© & H$mobH$mVm 

nhþ±MZo Ho$ ~mX, Cgo {H$amE H$s H$moI (gamoJ¡gr) Ho$ {bE ~mÜ` {H$`m J`m & \w$b_{Z`m Ho$ 

{H$g _yb A{YH$ma H$m C„§KZ {H$`m J`m ? 1 

(H$) g_mZVm H$m A{YH$ma 

(I) emofU Ho$ {déÕ A{YH$ma 

(J) OrdZ Am¡a ì`{º$JV ñdV§ÌVm H$m A{YH$ma 

(K) ñdV§ÌVm H$m A{YH$ma 

Phulmaniya travels from Ranchi to Kolkata to work as a domestic help. 

On landing in Kolkata, she was subjected to forced surrogacy. Which 

Fundamental Right of Phulmaniya has been violated ? 

(a) Right to Equality 

(b) Right against Exploitation 

(c) Right to Life and Personal Liberty 

(d) Right to Freedom 

6. amîQ´>r` Aëng§»`H$ Am`moJ Ho$ Ûmam {OZHo$ {hVm| H$mo gwajm àXmZ H$s OmVr h¡ do 

Aëng§»`H$ h¢  1 

(H$) gm§ñH¥${VH$ g_yh 

(I) ^m{fH$ g_yh 

(J) AÝ` {nN>‹S>o dJ© 

(K) Ym{_©H$ Aëng§»`H$ 

The minorities whose interests are protected by the National Commission 

for Minorities are  

(a) Cultural groups 

(b) Linguistic groups 

(c) Other Backward Classes 

(d) Religious minorities 



40 6  

7. AéU EH$ {d{Y ñZmVH$ h¡ Omo {d{Y ŠbH©$-gh-emoY ghm`H$ Ho$ ê$n _| H$m_ H$aZm MmhVm  

h¡ & {ZåZ{b{IV _| go H$m¡Z-gm Cgo nmÌ ~ZmEJm ? 1 

(H$) Eb.Eb.E_. ({d{Y ñZmVH$moÎma) 

(I) A{Ib ^maVr` Ý`m{`H$ godm narjm 

(J) gr.Eb.B©. ({d{YH$ {ejm Omar aIZm) 

(K) A{Ib ^maVr` {d{Yk (~ma) narjm 

Arun is a law graduate who hopes to work as a law clerk-cum-research 

assistant. Which of the following will make him eligible ? 

(a) L.L.M. (Master of Laws) 

(b) All India Judicial Services Examination 

(c) CLE (Continuing Legal Education) 

(d) All India Bar Examination 

8. Eogr VrZ à{H«$`mE± Wt {OZHo$ Ûmam {dH$mgerb gä`Vm {Z:ewëH$ {d{YH$ ghm`Vm Ho$ Ûmam 

{Za§Va gm_m{OH$ A{^`m§{ÌH$s (gmoeb B§Or{Z`[a¨J) H$s Amoa ~‹T>r & {ZåZ{b{IV _| go 

CgH$s nhMmZ H$s{OE Omo Cn ẁŠV Zht h¡ : 1 

(H$) A{Vg§doXZerb (dëZoao~b) g_wXm`m| H$mo ghm`Vm _§µOya H$aZm 

(I) dH$sbm| H$mo {Z:ewëH$ {d{YH$ ghm`Vm XoZo Ho$ {bE àmoËgm{hV H$aZm 

(J) Omo g§nÞ h¢ CZHo$ {d{Y Ûmam àXÎm {deofm{YH$mam| na à{V~§Y bJmZm 

(K) ^m½`em{b`m| go CZHo$ {deofm{YH$ma boH$a e{º$em{b`m| Am¡a Xþ~©bm| H$mo µH$mZyZ Ho$ 
g_j g_mZ YamVb na bmZm 

There were three processes whereby the developing civilization 

progressively moved towards social engineering through free legal aid. 

Point the odd one out : 

(a) To grant aid to vulnerable communities 

(b) To encourage pleaders to provide free legal aid 

(c) To put restrictions upon the exercise of privileges accorded by law 

to those well-off  

(d) To strip those fortunate of their privileges and place the strong and 

weak on an equal footing before the law 
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9. gaH$ma H$s Ý`m{`H$ emIm H$mo H$m`©nm{bH$m Am¡a {dYm{`H$m go AbJ aIZm Š`m| Amdí`H$ 

h¡ ? 2 

Why is it essential that the judicial branch of government be kept 

separate from the executive and legislative branches ? 

10. {~«Q>oZ H$s Ý`m` àUmbr O_©Zr H$s Ý`m` àUmbr go {H$g àH$ma {^Þ h¡ ? 2 

How is the judicial system of the United Kingdom different from that of 

Germany ? 

11. EH$ XÿY dmbm AnZ o XÿY {dVaU H$aZo dmbo b‹S>Ho$ H$mo ~VmVm h¡ {H$ XÿY _| {_bmdQ> H$aZo go 

H¡$go bm^ H$_m`m Om gH$Vm h¡ & dh {_bmdQ> H$s Eogr VH$ZrH|$ àX{e©V H$aVm h¡ {H$ J«mhH$m| 
H$mo XÿY Ho$ ñdmX Am¡a ~ZmdQ> Ho$ ~mao _| H$^r g§Xoh hr Zht hmoJm & Bg ~mVMrV Ho$ {ddaU 

go Cg AmYma H$s nhMmZ H$s{OE Am¡a ì`m»`m H$s{OE {Oggo XÿY dmbo H$mo X§S> {X`m Om 

gH$Vm h¡ & 2 

A milkman shows his delivery boy how to make profit by adulterating 

milk. He shows him the techniques of adulteration so that customers may 

never suspect anything wrong with the taste or texture. Identify and 

explain the basis on which the milkman can be punished on account of 

this conversation.  

12. àdrU H$mo AnZo {_Ì H$s hË`m H$aZo Ho$ g§Xoh _| {JaâVma {H$`m J`m & {JaâVmar Ho$ 24 K§Q>o 

Ho$ ^rVa Cgo _{OñQ´>oQ> Ho$ gm_Zo noe {H$`m J`m & nw{bg àdrU Ho$ {déÕ H$moB© R>mog g~yV 

noe Zht H$a nmB© & H$moQ>© go dmng bmZo Ho$ ~mX Cgo AnamY ñdrH$ma H$admZo Ho$ {bE {hamgV 
_| bo {b`m J`m & Š`m nw{bg H$m `h H$m_ Ý`m`mo{MV h¡ ? nw{bg Ho$ Ûmam ^maV Ho$ g§{dYmZ 

Ho$ AZwÀN>oX 22 Ho$ {H$g àmdYmZ H$m C„§KZ {H$`m Om ahm h¡ ? 2 

Praveen was arrested on the suspicion of having murdered his friend. He 

was produced before the Magistrate within twenty-four hours of his 

arrest. No concrete evidence could be presented by the police against 

Praveen. After being brought back from the court he was taken to 

custody to make him confess his crime. Is the police justified in its  

action ? Which provision of Article 22 of the Constitution of India is being 

violated by the police ? 



40 8  

13. ‘‘µH$mZyZr ghm`Vm nmZo Ho$ A{YH$ma H$mo _mZdm{YH$mam| H$s loUr go AbJ H$aZm Z Vmo g§^d h¡ 

Am¡a Z Cn`wº$ h¡ &’’ {Q>ßnUr H$s{OE & 2 

‘‘Neither is it possible nor is it proper to isolate the right to legal aid from 

the range of human rights.’’ Comment. 

14. _wµH$X_o go nyd© µH$mZyZr ghm`Vm (godmAm|) Ho$ KQ>H$m| H$s JUZm H$s{OE & 2 

Enumerate the components of the pre-litigation legal services. 

15. OZ{hV _wµH$X_o~mµOr H$s {deofVmAm| H$m C„oI H$s{OE & 4 

State the characteristics of Public Interest Litigation. 

16. {d{Y Ý`m`mb`m| Ûmam gm_Zm hmoZo dmbr CZ à_wI g_ñ`mAm| H$s MMm© H$s{OE {OZHo$  

n[aUm_ñdê$n d¡H$pënH$ {ddmX {ZnQ>mZ (E.S>r.Ama.) V§Ì H$s d¥{Õ hþB© & 4 

Discuss the main problems confronting law courts that have resulted in 

the rise of Alternate Dispute Resolution (ADR) mechanisms.  

17. {ddmMZ (H$m°pÝg{bEeZ) Š`m h¡ ? {ddmMH$ H$s ^y{_H$m _Ü`ñW H$s ^y{_H$m go AmJo {H$g 
àH$ma {ZH$b OmVr h¡ ? 4 

What is Conciliation ? In what ways does the role of a conciliator go 

beyond that of a mediator ? 

18. B§½b¢S>> Am¡a doëg go ~mha Ho$ `mo½`Vm àmßV {d{YdŠVmAm| Ho$ {bE `y.Ho$. _| dH$mbV H$aZo Ho$ 

Adgam| H$m narjU H$s{OE & 4 

Examine the scope for qualified lawyers from outside England and Wales 

to practise in the UK. 

19. ‘‘g§`wŠV amÁ` A_o[aH$m _| ‘E|~wb|g MoqµOJ’ gm_mÝ` h¡ qH$Vw `h ^maV _| ì`mdgm{`H$ 

dH$mbV H$m à{V{Z{YËd Zht H$aVm &’’ Bg H$WZ H$m Am¡{MË` {gÕ H$s{OE Am¡a ^maV _| 

ES>dmoHo$Q>m| Ho$ Ûmam {dkmnZ Ho$ _mZH$m| H$mo ñnîQ> H$s{OE &  4 

‘‘ ‘Ambulance chasing’ is commonplace in the USA but is not 

representative of professional practice in India.’’ Justify the statement 

and explain the norms of advertising by advocates in India. 
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20. amÁ` {d{YH$ godm àm{YH$aU (SLSA) Ho$ g§JR>Z Am¡a CgHo$ {H$Ýht Mma àH$m`m] H$m C„oI 

H$s{OE & 4 

State the composition and any four functions of the State Legal Services 

Authority (SLSA). 

 

21. (H$) XrnH$ Zo {H$gr Zm_r H§$nZr H$m D$Zr A§Vd©ñÌ IarXm & Á`m| hr CgZo Cgo nhZm, 

CgHo$ g§nyU© eara _| MH$Îmo {ZH$b AmE Am¡a CgH$m {ZXmZ ‘Vrd« ËdMm amoJ’ hmoZm 

~Vm`m J`m & Cgo XdmAm| H$m godZ H$aZm n‹S>m Am¡a CgHo$ BbmO _| ~hþV ~‹S>r aH$_ 
IM© hþB© & XrnH$ _wAmdOo Ho$ {bE H§$nZr na _wµH$X_m H$aZm MmhVm h¡ & Bg ~mV H$mo 

g\$bVmnyd©H$ VH©${gÕ H$aZo Ho$ {bE {H$ H§$nZr bmnadmh Wr, {Oggo XrnH$ H$mo 

hm{Z nhþ±Mr, H§$nZr Ho$ {déÕ {gÕ {H$E OmZo dmbo q~Xþ Š`m h¢ ? 

 (I) D$na Xr JB© pñW{V _|, XrnH$ H$s ~r_mar H$m H$maU _mby_ H$aZo Ho$ {bE Ý`m`mb` 

A§Vd©ñÌ H$s à`moJembm Om±M H$m AmXoe XoVm h¡ & à`moJembm H$s [anmoQ>© Zo H$hm  

{H$ : 

 (i) A§Vd©ñÌ _| ìhmBQ> noQ´>mob Am¡a ZoßWm Ho$ Adeof nmE JE qH$Vw Cgr ñdrH¥$V 
gr_m _| {Oggo dñÌm| H$mo H$s‹S>m bJZo go ~Mm`m Om gHo$ & 

 (ii) gm_mÝ` ì`{ŠV H$mo Bgo nhZZo go H$moB© naoemZr Zht hmoJr & 

 (iii) `h {ZîH$f© {ZH$mbm J`m {H$ XrnH$ H$s ËdMm ~hþV g§doXZerb Wr & 

  Bg pñW{V _| Š`m H§$nZr na H$moB© _wAmdOo H$s Xo`Vm ~ZVr h¡, O~{H$ `h {gÕ hmo 

J`m {H$ dh AgmdYmZ Zht Wr ? AnZo CÎma Ho$ g_W©Z _| VH©$ Xr{OE & 5 

 

(a) Deepak purchased woollen innerwear of a renowned company. As 

soon as he wore it, rashes developed all over the body and he was 

diagnosed of having ‘acute dermatitis’. He had to undergo 

medication and a huge amount was spent on his treatment. 

Deepak wants to sue the company for compensation. In order to 

successfully argue that the company was careless in a way that 

harmed Deepak, what are the elements that must be proved 

against the company ? 
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(b) In the situation given above, the court orders for laboratory testing 

of the innerwear to find out the reason for Deepak’s ailment. The 

laboratory report stated that : 

(i) The innerwear had traces of white petrol and naphtha but in 

a permissible limit required to protect the garments from 

being infested by moths. 

(ii) A normal person will not have any problem using it. 

(iii) It was concluded that Deepak’s skin was very sensitive. 

 Will the company be liable to pay any compensation in this 

situation when it is proved that it was not careless ? Give reason 

for your answer. 

 

22. EH$ Am{Xdmgr `wdH$ _m¡`© H$mo {µObo _| EH$ Iob-Hy$X à{V`mo{JVm _| ^mJ boZo Ho$ {bE 

CËnr{‹S>V {H$`m J`m Am¡a nrQ>m J`m & CgZo Amamon bJm`m {H$ `Ú{n nw{bg H$_©Mmar Cg 

ñWmZ na CnpñWV Wo, CÝhm|Zo AnamYH$Vm©Am| go ~MmZo _| H$moB© ghm`Vm Zht H$s & Cg 

ñd`§emgr g§ñWm H$m Zm_ {b{IE Omo nw{bg Ho$ {déÕ H$m`©dmhr H$a gH$Vr h¡ & CgH$s 

e{ŠV`m| Am¡a àH$m`m] H$mo g_PmBE & 5 

Maurya, a tribal youth, is tortured and beaten for participating in an 

Athletics competition in the district. He alleges that although police 

personnel were present at the venue, they offered no protection against 

the perpetrators. Name the autonomous body which can initiate action 

against the police. Explain its powers and functions.  

 

23. (H$) A§Vam©îQ´>r` {d{Y Ho$ gdm©{YH$ Am{YH$m[aH$ òmoV Ho$ àmdYmZm| H$m C„oI H$s{OE & 

 (I) A§Vam©îQ´>r` {d{Y Ho$ òmoV Ho$ ê$n _| ‘[admµO’ H$mo ñnîQ> H$s{OE & 5 

(a) State the provisions of the most authoritative source of 

International Law. 

(b) Explain ‘custom’ as a source of International Law. 
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24. A§Vam©îQ´>r` {ddmX {ZnQ>mZ V§Ì Ho$ g§X^© _|, {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE : 5 

(H$) A§Vam©îQ´>r` Amnam{YH$ Ý`m`mb` (ICC) H$m JR>Z H$~ Am¡a Š`m| hþAm ? 

(I) A§Vam©îQ´>r` Amnam{YH$ Ý`m`mb` (ICC) H$m A{YH$ma joÌ Š`m h¡ ? 

(J) A§Vam©îQ´>r` Amnam{YH$ Ý`m`mb` (ICC) {H$gr _m_bo H$mo H$~ hmW _| bo gH$Vm  
h¡ ? 

In the context of International Dispute Resolution mechanism, answer 

the following questions : 

(a) When and why was the International Criminal Court (ICC) set up ? 

(b) What is the Jurisdiction of the ICC ? 

(c) When can the ICC take up a case ? 

25. H$bH$Îmm Cƒ Ý`m`mb` _| dH$mbV H$aZo dmbo {à`m§e H$mo {H$gr {XZ CÀM Ý`m`mb` H$m 
_w»` Ý`m`mYre ~ZZo H$s H$m_Zm h¡ & H$m°bo{O`_ _m°S>b _o| CŠV nX Ho$ {bE g_wÞ{V Ho$ 
{d{eîQ> MaUm| H$s nhMmZ H$s{OE & 6 

Priyansh, an advocate practising in the Calcutta High Court, aspires to 

become the Chief Justice of the High Court some day. Identify the specific 

steps in the elevation to the said post in the collegium model. 

26. àemg{ZH$ {H«$`m{d{Y Ho$ àH$mam| H$mo g_PmBE & 6 

Explain the types of administrative actions. 

27. EH$ AnmQ>©_|Q> H$m°åßboŠg _| Xrn _mohÝVr Am¡a amKd Zm`a n‹S>mogr h¢ & Xrn Ho$ âb¡Q> H$s 
~mbH$Zr _| aIo nm¡Ym| Ho$ ~‹S>o J_bm| go [agmd hþAm {Oggo amKd H$s ~mbH$Zr Ho$ D$na H$s 
N>V H$_µOmoa hmo JB© & amKd Zo _m±J H$s {H$ Xrn nm¡Yo hQ>mE Am¡a Bggo {ddmX hmo J`m & 

 Xr JB© pñW{V Ho$ {bE gdm©{YH$ Cn ẁŠV d¡H$pënH$ {ddmX {ZnQ>mZ V§Ì H$s nhMmZ H$s{OE 

Am¡a ñnîQ> H$s{OE & BgH$s à{H«$`m H$mo ^r g_PmBE & 6 

Deep Mohanty and Raghav Nair are neighbours in an apartment 

complex. Large flowering pots kept on the balcony of Deep’s flat have 

caused seepage and weakened the ceiling above Raghav’s balcony. The 

latter demands that Deep remove the plants and a dispute ensues.  

Identify and explain the alternative dispute resolution mechanism that is 

best suited in the given situation. Also explain its process. 
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28. ‘_m¡{bH$ H$V©ì`’ Š`m h¢ ? CZH$s à_wI {deofVmAm| H$m C„oI H$s{OE & _m¡{bH$ H$V©ì` 

_m¡{bH$ A{YH$mam| go {H$g àH$ma {^Þ h¢ ?  6 

What are ‘Fundamental Duties’ ? State their salient features. How are 

Fundamental Duties different from Fundamental Rights ? 

29. ^maV _| A{YdŠVm (ES>dmoHo$Q>) Ho$ ì`mdgm{`H$ H$V©ì`m| H$m dU©Z H$s{OE & 6 

Describe the professional duties of an advocate in India. 

30. g^r Ho$$ {bE g_mZ Adga VWm Ý`m` VH$ nhþ±M ~ZmZo Ho$ {bE {ZåZ{b{IV àmdYmZm| Ho$ 

_hÎd H$mo ñnîQ> H$s{OE : 6 

(H$) ^maVr` g§{dYmZ H$m AZwÀN>oX 39-H$ 

(I) X§S> à{H«$`m g§{hVm, 1973 H$m I§S> 304(1) 

(J) NALSA {d{Z`_, 2010 

Explain the importance of the following provisions to create equal 

opportunity and ensure access to justice for all : 

(a) Article 39-A of the Indian Constitution 

(b) Section 304(1) of the Criminal Procedure Code, 1973 

(c) NALSA Regulations, 2010 

 

  4,000 


